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. 5Underlme the most apprupl mte answer.

1. A membrane separates water on OHL mde and IM KCI on the othcr sulm SRR
L 'a) lf only K is pemleable concentratlon of I{ w111 ba equal on. both Sldes whlle-;--'- :
R, “will only b on one side. L e

: b) Ifboth k* and cr are permeable they wﬂl rcmam on one mde of the -
‘menibrane,
c) Honly Kt is permeable almost a]l of 1t wﬂl move eto the other mdc of the
. -.. . membrane.. .
: d) Tfonly K" is permeablc sone of it wﬂl move to. the other s1de but the charge

- difference across the membrane vv:ll cause the rcst to remain on the same. a,tde T

as Cl

_2 Sc]cct the correct order of physmal proccsses by wluch water passas through a green s "

plant ﬁ’om sml water to an'

: 'a) capillanty Osmosis = dlﬂ'hsmn DSI‘IIOSIS _
-+ b).0smosis — capillanty evaporation — difﬁlsl()n
* ¢} diffusion — evaporation'— capillarity ~ 0smosis,
e dy evaporntmn dlffus:un osmoms-—caplllanty

| 3. SQI] water that is avaﬂablc to plants is

o a} hygrascoplc water and gfawtahonal water
~b): "Gravitational water and- capﬂlary water

c) C aplllary water and‘f Ut e uwatf;'r

4 The bondmg bctween hyd:egen atoms and the oxygen atom in 8 molccule of water s S

best descnbed as

a} -lonie bondm;; : :
~ . b).:non polar, covalentbondlng
- e)ipolar, covalentbondmg
o d)s hydrogen bondmg



Wh:ch of the followmg is thc ma]or llpld cumponent of‘ rnost bm]oglcal membranes‘?
'_a) fats s : R i
b) pho'sphohpxds

. ©) - cholesterol plus_stermds e
' _.: : d) carbohydrdtes L ey

6 When a plant ce]] is plasmolyzed the space behﬁcen the pIasmd membrane and the )
cell wall is eccupicd by o . L - : .

a) the plasmolyzmg :.olutlon
b) water o

. _C) ﬁll‘ ' : R .

- d) the orlgmal vacuolar mdtenal

7 P]ants rc:qun‘e many mmerals in 1arge qmntmes Three rnmerals, w‘tuch are most
rap1dly removed frem 3011 are pres;mt n most commercml Temh;fers T hese are . : :

a) potassmmﬁ iron; sulphur
b “potassium, nitrogen, phosphoruus
"._'_-c':) nitrogen; phosphorous, sulphur
o ‘d)’ potasswm calcmm mtmge:n

8 A pldnt is growmjb e 9011 where the wncentranon of a.certain’ eIemcnt 15 50 ppm

- This nutrient is found i in a coricentration of 200 ppm in thetissues of the plant root,
“The nuitient is taken up rapldly The mechamsm by whzch thls nutn ent is entenug the;-
tlbsuc is probably : .

a) duﬂ’uswn

. b) active iransporl
c) osmosis - -
d) bulktranbport

9 Fleld capactty is R
oo a)” the same as pcrmanent w:itmg pmnt _ :
' b) the amount of water in soil available to plants -
"¢} the amount of water in soil aftet dramage takes: place
d) hlgher for sandy smls than clay smls '

10 Tmnspxrahan of plants requlre all of thc follomng cxcept - ', B

a) coheswn between water mo]ccules R
by -evaporation of water molecules o

R c) “active transport of water molccules-

. d) " transport through xylt.m cells



11.In plants contmmty Qf the’ Symplast is ac}neved by co
a) plasmodesmata - _ U
‘b) -intercellular spaces
) the middle Jamellac betweei adjacent cell wall
'd) cohesmn of wnter mo]ecule:. i R

'1_2.'.R00t cells are, by companson w1th sml water generally
- .a) -isotonic: : .
b)) hypertomc
) hYthDDIC s ' Lo Lo
cd) vauant between hvpotome and hypertumc extremes

S 13.TEa plant celt WIth a water petenhal of -1, 0 MPa s plawd ina beaker eontammg a
sucrose solutwn that has 2 water potential of 4.0 Mpa, e SO

o f1) The plant cell wﬂl become
o ay latger
-b) smaller .
: e) notchdnge _ : B
SN The wetght of the pl'mt cell wﬂl £
~a) - increase - RS
by decresse
-c}. - not chdnge T '
_ 111)The concenlratlon of the: sucrose selutmn m the beaker wﬂl
' B) lncreasa ’ - L T .
" b) decrease”
- -¢)" not change _
o lv) ‘The lurg1d1ty of the plant cel] wﬂl
' A increase
“'b. decrease
. c..not change R
¥) There wﬂl be u net movement of water frorn the
: a.cell to the eolutlon S
b seiutlcm o rhe ccH '

14 In_ the cohes:en theory of ascen’r ef sap cohesmn is mvulved in. S
&) maintaining continuous vertical columns of the transported Solutlon L
‘D) pushing the columns of solution up thestem™ - S
¢) - keeping solutes in transpor*ed seiutmn e
dy accumulatmg solutes in the root LEUS o

15 Whlch ofthe followmg w111 not cause atomata to open’? Ll
‘&) ‘internal clock : P RE
“b) light P L
¢) high carbon dioxide concentratlon R
dy. movement ef K.- PR '



e

e

Wc know that Iar;,e trees can be lulled by glrdlmg (removal of a rmg ot bark)
them.- The main reason for death of ‘girdled trees is:that:

S 'a} transport of water from the roots to'the aenal parts' of thc 9hoot is senously

“disrupted.

i ':'..-b) transport of morgamc: IOHS ﬁom the rootb to thc shoot ig senously dlsrupted.i

7 ¢) tranSport of organic nutrients within the plant body is 5en0usly d1srupted

o o) the tendcr mns*' tlssues of the stcrn are exposad to mfectlon

.

- _'::.1.8.-- '{_Small Llay pamcleq hold calcmm potassmm and magnesxum mns bLLduSE thelr

.W’mch of the tollowmg i3 not the correct pamng cf structure W1th funchon'?

-+8) Golgi complex :. -breakdown of complex molecules TR
*'b) Mitochondrion ; produauon of ATP. .- :

~c). Endoplastic rehculum , synihesls of protems o

d) Chloroplast photosynthesm R

o __surfaccs are.

a) Smooth

- b): ncgatwely charged

e

' .e) ‘positively charged L
S cl) covered wﬂh tmy LIEVICGS

A certatin protem molecu]e con51sts c-t four sub-umts each is polypept:de cham

-+ with an alpha helix Considering’ thig information, which Sti‘uutur al lu\ els of
-+ organization must the molecule haVe? o __ .

R ) pnmary structure - :
b) primary and secondary slructure

). pnnmry, sccondary and tcmary structure

' ! _d) pnmary, secundary, temary dnd quaternary S'micture

f-i:'

5 ;_'20 An'ange the tollowmg ﬁv:: cvcnts 1n an ordcl that cxplams the mass ﬂow of

matenals in the phloeni.
1, Water diffuses 1nto the sieve elements e
2, Leaf cells ptoducc sugar by photosynthems I
. 3. Solutes are uctively transported into sicvo elements.
4. Sugar is transported from cell to cell in the leaf. '
5. Sugar moves down the stem PSRN
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